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Instructions for the candidates::

1. et qarEa e QR 8 S 3
Candidates are required to give their answers in their own words as far as
practicable.

2. e st erferd W fd qu 3w qoiE e e &1
Figures in the right hand margin indicate full marks.

3. 3q RTT & WAYEE G & fu 15062 @1 st wag fear mar
15 minutes of extra time has been allotted to read the questions carefully.

4. I gF9 7 GUsi A faies &, WR-I 0F GvE-q/
This question paper is divided into two sections — Section-A and Section-B.

5. @ve-I ¥ 4sangive wv & fad sonvr sfrard &1 afy whmdt 40@ A vt
& 37 /3 & at wgq 40 ITN FT & gearwT fwar aQm) SRS T & f
1 3% filtd # | OMRIT-93% W Ry 10 @Rt g9 @ @i/l T 97 & 971 Rt

W} Y@ & g@TFeAT / AT WeTd / ¥ / AT A FT OMR IAT-AF H W
TET & =T T WO ST g
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which 40 questions are
In Section-A there arc 48 objective type question? o: ; r?ins’ b s
compulsory. If the candidate answers more than 40 qt:_k eeen (e el
only will be evaluated. Each question cames 1 rﬂﬂ: Do not use whu!nqrf
given on the OMR answer sheet with black / blue bal wa-" i i o
liquid material / blade / natl etc. on the OMR ans

result will be invalld. :
o G N &
6. w-r:fmﬁm?%mﬁ5m$ﬁg i

faw 2 3w fifer &1 ; 5 subjects of Social
In Section-B there are Short Answer Type questions of

Science. Each question carmes 2 marks. & :
: : 5 gy & I3 R

s i 8 e 307 597 (Q.Nos. 18 §) & fod &7 3 i L -

History has § Short Answer Type questions

3 questions are to be answered. . ¥ &
oy frart i 6 ey 3T 5ET (Q. Nos. 8 # 13) &, [A7H el 2 9%l & 3w
&k

Political Science has 6 Short Answer Type quesions

which any 2 questions are to be answered : _
srefyren i 3y 3T W (O Nos_ 164 18 ko fEE 2 5% & mhé:ieﬂ
whichn any

Economics has 3 Short AnswerType questions (Q. Nos. 16 to 18) out of
2 questions are (o be answered,

NI 3§ Il T {0 Nos 21 & 25) & fr fl 3Fvl & I 3 &
Geography has 5 Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are to be answered.

TG ST ¥ 4 7 I G (Q. Nos. 28 & 31) & frnd fewt aswEt & 3w
g &

Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 to 3]) out
of which any 2 questions are to be answered.

§i@ Jifafres 8 < ITTT NFT (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) ¥ | % 977 &
fere 4 3 friifr &1 sfarms, ootia famm, seimer od yier 9w # O0F-0E
q¥T &1 I & &

Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14, 15, 19,
20, 26, 27). Each question carnes 4 marks. One Long Answer Type question each
Jrom History, Political Science, Economics and Geography is to be answered.

7. [&4 WK & seiagifae IvFTor &7 I9TT /T F/

Do not use any type of electronic instrument.

(Q. Nos. 1 to 5l

{Q\Nes! 8 to 13) out of
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WYY - ¥ / SECTION - A

l’ﬁ]ﬁﬁm / Objective Type Questions
R vowr 10 4 & aRm v & ww o R Ar o & P R ow wt

3T grT g3 v Wt e w1 oMR Yz T RifRT w1 %A 40 wvET O o 3T §

40x 1 =40
Question Nos. 1 to 48 have four options cach, out of which only one is correct. Mark your

Selected option on the OMR shect. Answer any 40 questions. 40x1=40

1 fzﬁuwtmq&qﬁmaﬁMW@mﬁmmuﬁmm‘t
fer gan ?
(A] TR B &

(C) INF Jor” i

After the sccond great war which organisation in Europe emerged to remove the

economic ill effects ?
(A) SAARC (B) NATO

(C) OPEC (D)  European Union

2. fow w1, o P Q@ Weew 3, wEl 9w a2

(A) e T (B) T qW

(C) TqE=TE Y D) & e

Who said printing is the greatest gift of God ?

(A)  Mahatma Gandhi (B} Martin Luther

(C}  Prophet Muhammad (D)  Jesus Christ
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it @ 17T

A} 16 i

o 18 o 19

What is the minimum age to be a voter in India ?

(A] 16 ycars B8] Eysw3

(C) 18 years (D) 19years

uTea  Fog WER @ T FOel & 2 |

(A) i 3R st @ ada I LEaR
€ TS AR A (D) e AR i
What type of syst;:m of government is there in India ?

(A)  Federal and Presidential (B) . gRedcral'and Parliamentary
(C)  Unitary and Presidenual D]  Unitary and Parliamentary
WA ¥ T L AAE ST 79 ¢

(a)  offem Eme (B ¥RGUS

)  sifem - D) oHaTg

The leading coal producing state in India is

(A)  West Bengal (B) Jharkhand

(€] “odiha (D)  Chhattisgarh
RE &1 JUH A3 INRE IO &

) S e S g S Isco)
JB/ ZE e AR @A FE (TISCO)

(€ R ¥ fadt

o) fadratar dr R T @R
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The first iron and stecl producing industry is

(A)  Indian lron and Steel Company (IISCO)

(B)  Tata lron and Steel Company (TISCO)

(C)  Bokaro Steel City

(D)  Viswesvaraya lron and Steel Plant

7. @hm aps @R ¥
R GCK:
(€ M A

(B T AR
(D) YA R

Golden Quadrilateral is related to

(A} Railways

(C) Watcrways

8.  TUgH g &
(A} Al §
(€) wieR |
Gandak project is in
(A)  Bettiah

(C)  Motihan

(B) Readways

Dy~ Airways
B) aifeETR o
(D) B

(B)  Valmikinagar

(D) Chapra

Ft % 3 B0 U I St maes & e iy 2
(A) A & T GEE
Sy IR W

(B) ¥ T foqt g
(D) TEHEH F AR
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2 ratic system ?
Which one of the following is not according 10 the democ

ir election
(A)  Equality before law @) Frecand fai

(C)  Responsible ruling system (D) Ruleof majonty
10. Wi & FHAA (R FE &

(A) ST @1 SERAE |

B) i@ F R FEE T

()~ i et Featmal o

(D) At gRT A e & frdl @ W W

Success of democracy depends on

(A}  disinterest of citizens

{B) illegal activites of citizens

(C)  active participation of the citizens

(D)  seccure the benefits of their caste by the citizens
1. SFER H W HOH FUOH &

(A FE 8 QA o B) e

€ T T Oy FEmEER

Bad cflect of feeling of regionalism is

(A)  Attachment to own region (B)  National interest
(C)  National integration (D)  Separationalism
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12 &}

W et e (B)  TARETOMY AR
(C)  a @anm (D) ¥ A w

Coanl is

(A}  Non-renewable resource (B} Rencwable resource
(C)  Biotic resource (D) None of these

13.  EIEa R

187 ST ST (B) W I

(€) FE A0 (D) ¥R | HE el
Landslide is

(A)  Natural disaster ' (B} Man induced disaster
(C}  Normal disaster (D) None of these

14. YRR 961 & &9 &1 9omy &

(A feregem (B) wwaW
oy~ g (D) ¥ &R T
The result of vibration of ocean bottom is
(A)  Avalanche (B) Cyclone
(C) Tsunami (D}  None of these ‘
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1S, ol ) wag w wdvan geRTed] fEEn-a X

W @ @ WA
o wam ) A
The scismic wave reaching the carth’s surface first if!
A) Pwave (B) S Wave
(C) L wave (D) Twave
16. AW & FE ¥
A} WA B) WA K
€ ¥mwEm Py~ T BT

Tsunami is related to

(A} Land (B) Sea

(C) * Sky (D)  Nonc of these

17.  UFEIE T WG FE A T RA-4 E 2

(A)  FIH HEOH M‘-ﬁnfaﬂ?mﬁﬂ?
© wmfes F W@ g (D) ¥ A+ &

Which institution promotes long term loans ?
(A)  Agricultural lenders

(B) Land Development Bank

(C) Primary ﬁgﬁcultural.Cmdit Society

(D} Nonc of these

[ 111 ] H [5011-H ng
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18 Mies frem w A s W 2

N Tl | o e
() fmn Jpr” dmam
Which in the third sector of Economic development ?
(A)  Agriculture sector (B) Science sector
(C) Education sector (D)  Service sector
19, =it snfaw =ifa o} fent wfedem fwqr ma 2 hitp:/www.bsebstudy.com
(A) IR @ Fretwm
(€ At o F d

What was included in the New Economic Policy ?
(A} Liberalisation (B)  Privatisation

(C)  Globalisation (D)  All of these

20. I g1 o wiEa wA & fag sma e fewn e § 2

(A} 50%e B 703

5 10%e @ W R et

What is the application fee for making a complaint by the consumer ?

(A) Rs.S0 B} Rs.70

(C) Rs.10 (D) No application fee
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21. m#\-ﬂmﬂﬂ:ﬂ?ﬂ? ?

-

_LB‘-'/ 155

23 e

e

A) 17

D
(C) 19 ¥ (D)

When is Consumer Rights Day celebrated 7

(A {7th March iBj 15th sarch
!
(C)  19th Apnl (D) 22nd Apn

23; ﬂhﬁmﬁq@mmﬁky

A @ B 7
JC[' qra Dia L H ¢
How many factors copsfitulc globalisation 7
(A)  One (B Two
L{Q( Five (D) Four
23, ®A-w Fa w2
(Al d= @ (B} bra o
™= "

Jc{' Hie /a1 )

Which of the following is a non-government service ?

(A)  Police service (B}  Finance service
(C)  Mall service ' (D)  Railway service
(111 ] H {SO11-H ns Page 10 of 24
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24

26.

wRa &) fawily T e e T

A @ feesh
(C) W& D) W
Which is the financial capital of India ?

(A)  Mumbai (B)  Delhi
(C)  Patna (D}  Bengaluru
G TR & fagtean 7@ &

Ay fefea wfaum ®)  wfwal & farem
(C)  THER AT R (D) WA ARYAEH
Which is not a characteristic of a federal state ?

(A) Written constitution (B}, Power distribution
(C) -Unilary ruling systcm (D)  Supreme Judiciary

H9 ATRR &1 S DE

Ay 3 | =

© fweA D) W AP T

The example of federal government is

(A) Amenca (B) China

(C) Britain (D) None of these
Vy a5 e w1 g P ¥ R et fn 2

@A) R e (B) T FER

() e it _py” SR ARG
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. ( Complete Revolutigy, |
Who among the following led the Sumpurni Krantl ( | i

Bikar ?
in ‘umar
(A)  Morarji Desai (B) Nitish K
g n
(C)  Indira Gandhi D) Jay prakash Narayn

2. i st 4 frefe fi gt o awe T &7
(A Tt s @ e w &
(B) w & dra et & wEa K &
€ mmmhumw#m@ﬂmmmt
(D) maﬁuﬁaﬁﬁfmﬁu@aﬁ%a’mm&qﬂrmmfﬁmt
On which of the following points did democratic'systent get success ?
(A)  Abolished the politictil differences
(B)  Abolished the edfiflicts between the people
(C)  Majority and minority groups are treated cqually

(D)  Reduces the economic grade for the pocple standing in the last line
29, T WA 3R (free i 3uwe) 1w feafere @ € 2

() TR & fow @ m fam & fag

€ dunE @t @ & fee g q_mia%t"m

For which purpose is remote sensing satellite used ?

(A}  For telecommunication (B) For metcorology

(C)  For searching the resources (D)  For television
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0. B8 9 ywm w e daeie )
(A) R @ T

(C) ¥eTAR DF I
Which of the following is the most sensitive city to carthquake ?
(A) Dechradun (B) Ranchi
(C)  Hyderabad (D)  Chennai
31, FedadfA fomrasnamt ?

(A) G (B) W

oy~ fww D) feeett
Which of the following is called backward.stite ?
(A)  Punjab (B)  Kerala
(C) Bihar (D)  Delhi

32. w9ra H fadila ad s Fer A € 2
(A) 1 9FaEt & 3) e o (B) 1 | 30 9H T
Cy 1 30 W 31 9 % (D) 1 faEER | 31 3TA TF
Which of the following is Financial year in India ?
(A)  From lst January to 31st December
(B) From lst July to 30th June
(C) From lst April to 31st March

(D) From lst September to 31st August
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LN

W2 v w frarg e o few g g Fvpn fwn 2

(A} H-If‘lf:[ (0 i 1 U"‘{ﬂ
(Cy  wveniE (D) rjgrhﬂ

. . 2 - rour ?
In which post did Victor Emmanuel appoint Count Cavo

(A)  Army Chicf (B)  Ambassador iR
(C)  Prime Minister (D) Home Minister
34, T vd &g F) Afa w e few o a2
Ay fa s S it
€ Fowr (D) o ffctE
Who started the policy ofBlood and iron ?
(A)  Mazzini (B}  Hitler
(C)  Bismarck (D) William |
35. WPTARE] AEA 1 GEA TEM FE Z3I0 91 2
(A} ®H (B) VYA
© §H (O FT
Where was the ﬁ;‘at experiment of the communist governance started ?
(A)  Russia {(B) Japan
(C) China (D) Cuba
[ 111 ] H [5011-H us Page 14 of 24
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an

devfaw wifa w9 gt ?

A w@EY, 1917 (B) T, 1917

(C) A, 1917 .oy faEr, 1905

When did the Bolshevik revolution take place ?

(A}  February, 1917 (B) November, 1917

©  April, 1917 (D) September, 1905
37, @ anira faga ofcdiern fa faen o waf@ § 2

W g | (B) ¥am

€ TTERR (D) T R

In which district is Kanti Thermal Power Project situated ?

(A)  Pumnia (BIZ, "\ Siwan

(C) Muzaffarpur (D) East Champaran
3. IS gHY HEnRag e ?

A TR | B) SR

© TR (D) T

Where is the railway workshop situated ?

(A) Jamalpur (B) Bhagalpur

(C)  Munger _ (D) Patna
39, AT I ATE FR T ?

oy TR H B) Hewh & ¥

() ed W EY (D) T | F
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What s the main cause of Tsunami ?

in area
Earthquake in platn

(Al Earthquake i sea 18]

(€} Earthquake on mountain (D)  None s
0. qIg w2

.)“I/ ’ PIEDTo N By W ATl suiw

(C)  WBTE 39eE D) 7t | w3 Tl

What 1s drought ?

(A)  Natural disaster (B) Man-made disaster

(C)  Normal disaster (D) Nonc of these
A1 e e @ e e

(A) @R By WA Tl

) f arpERy (o HE fearé

The main cause of land degradation in Punjab is

(A}  Dclorestation l[Bl Intensive cultivation

(€) 6vcrgrazing (D)  Overirrigation
42. WA IRR 0 A F A @ &

(A)  55% B 60%

y 65% D) 70%

Amount of water present in human body is

(A)  55% . B)  60%

€ 65% O 70%
[ 111 ] H [5011-H us Page 16 of 24
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bt Al 8 @3 dmre s o w0

A T w7 e

€ &
(D) &g

\k! H .
hich of the following creatures is found only in India ?

(A} Crocodile (B)  Dolphin

1 Waiale (D)  Tortoisc
44. H'}Wmmmmwt
y/ oy (B) dEERE
© TR (D).... e, HF
The main raw material of ¢fment industry is
(A} Limestone (B) Bauxite
(C}  Granite (D) Iron ore
45 fe=-d 9Ee A g9 AR 5 9 2
I i (B) I
1oy et | o =
Who were the first merchant to arrive Indo-China ?
(A) England (B) French
(€ Portugal (D) Dutch .
[ 111 ] H [5011-H s Page 17 of 24
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a6 wrTa srom st e 9jE 430 7

930
(A 1920 “yvf/-1’3

(C) 1938 o) 1942

When did the civil disobedience movement atort ?

Al 1920 ® 1930
() 1935 D) 1942
47, TIEE AR-FEE IUm R
Wy sfema @ FEs
() "TAWAH o) o i 8
Rourkela iron and steel industry is in
(A) Odisha (B)  Jharkand
(C) Madhya Pradesh (D)  West Bengal
a8, AR o 4 g o T @ T e @ e 34 2 ;
W e s (B)  HTHEE 9gi
€ Fhpm wf (D) T WA
Which type of attitude emerged in urban system lcaving the fcudal system
behind ?
(A)  Progressive attitude (B) Aggressive attitude
(C}  Orthodox attitude (D)  Exploitative attitude
[ 111 ) H | S011-H us Page 18 of 24
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Vs - 4 / SECTION - B

3fae™ / History

H‘Imﬁﬂm / Short Answer Type Questions
gy e Iﬁswagsaﬁa#:gaﬁ#ﬁm?am#%maﬁmm&;m

o 3 Freifed &1 Bl

Ouestion Nos. 1 to 5 are Short Answer Type. Answer any 3 questions. Each question

carmies 2 marks, Ix2=6

g A & o i g @ s w2 2
What was the role of Austria in the unification of Italy and Germany ?

5 3T gl T @ WY 91 ? 2
What was the objective of Dandi March ?

3. - e R wan v Her an'” feori T 2
"Non-cooperation movement was the firstmass;movement.” Comment.

a. mﬁwﬁﬂmﬁmﬁﬁﬂiﬁhﬁfﬁmmwﬁﬁfaﬁm? 2
How did industrialisation*fnflucnce the livelihood of labourers ?

5. Tfrﬂ%mmfﬁﬂm&ﬁﬁmﬁmﬁl 2
Mention the characteristics of agro-cconomic activities of villages.

4| 39{tq W9 / Long Answer Type Questions

v gEr 6 Ak 73 Iwaa & ﬁﬁ#fkﬁwmmé‘:mm%ﬁv 4 IF

frutfea &1 Ix4=4

Question Nos. 6 and 7 are Long Answer Type. Answer any one of them. Each question

] x4=4

carries 4 marks.
6. 32 & T 7 dfe,

contributions of Mazzini, Cav

e i e 35 A # 4

State the our and Garibaldi in the unification of
ltaly.

Page 19 of 24
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7 7 wber i e @ ) fada wh

What is New Economic Policy ? Discuss.

na-ifa fa@= / Political Science

ions
H‘!aﬂﬁ"m!Shon Answer Type Quest _—
o s 8 107w g e 1 g faef 20 & 97 &I : 2;;,?
2 3% fuifra s

.stions. Each question
Question Nos. 8 to 13 are Short Answer Type. Answer any 2 que

2x2=4
cames 2 marks.

3 i few e e srEe A § 2 @ 2
How are the caste based differcnces prevalent in India ?. Explain.
) e i 3 e 2
What is the im;?criancc ol Power aha_n'ng in dc.mocracy ?
10. [®RH g0 om Wi F @ FRM AL 2 2
What werc the main reasons for the students’' movement in Bihar ?
1) S i & e o o e 2w § 2 2
. How do you sce the future of democracy in India ?
y HITHAT A J G €1 HFR 2 2

Terrorism is a challenge for democracy. How ?

13. W T 4w @) et iR s W s dfe froud G 2

Write a short note on the responsibility and objective of democracy in the
caming society.

‘[ 111 ] H [ 5011-H g Page 20 of 24

by:BSEBResult.In



3w W77 | Long Answer Type Questions

p’?’-?ml“q# ISﬁém*;’##wwwmé’mmﬁm
449 ) Ix4=4

Question Nos. 14 and 15 are Long Answer Type. Answer any one of them. Each question

cames 4 marks, Ixqd=4
147 A & faivs qgest @ s Wt Gt @ R & w Yowa b @ A
wAR Gt o & 4

Mention different nspects of life in which in India there is discrimination against

women and they are in weak position,
15 WRAEE @A FR A @ wa oo A

How could democracy be successful in Indin ?

NYMA / Economics
Y IAIT UTT / Short Answer Type Questions
0y EAT 16 ® 187% Y. IA0G L3 7 fl 20971 & I &1 ydw uvd & oy
2 3% frutfia # s B

Question Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question

carries 2 marks. ey
6, sdegae & FEd € 2 2
What is Economy ?
17 ) TR % WY ey i ] 2
Explain the relationship between Income and Poverty.
2

187 ATM ®I1¢§ ?

What is ATM ?
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#it 37y WA / Long Answer Type Questions G
o FEr 19 vh ,ommamnﬁ#wwmme;mm*

4 3w FPrafia 41 o=t

slion

Question Nos. 19 and 20 are Long Answer Type. Answer any onc of them. Each ques )
| x4~

cumes 4 marks.

19. wEwIfTn & wpeaqel A 4§ ?mtmﬁmﬁmmmﬁ’ﬁl 4

What are the important clements of co-operation ? Explain its role 1N

development of a state.

e ferg & i e e s % w9 A fow e e e & ) e wfea ferd | 4

Explain with cxample how India is known as service provider to the world.

Wit / Geography
aqmﬂtrm / Short Answer Type Questions
Ty WERT 218 25 7% Y AR KeyR 9 syl & v &1 wRw W & oy

2 3% Fifea 41 3x2=6
Question Nos. 21 to' 25 are Short Answer Type. Answer any 3 questions. Each question
carries 2 marks. 3x2=6
21, EEW TE, GA el o fRR R e 2 . 2
How is crop rotation helpful in the conservation of soil ?
}/ﬂmﬁaﬁﬁ%m%mﬁmaﬁﬂﬁﬁm ' 2
Describe the causes of pollution of the rivers in India.
ﬁﬁ%w#mmmﬁmmﬁmu - 2

Mcntion four main factors of wildlife deterioration.
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247w & e v gdue /AT # @ & 2 2

What do you mean by the conservation and management of minerals ?

BRI & IR FW Ak D 2

[
w

How is solar energy produced ?
Ta Iig Wy / Long Answer Type Questions
U¥A WEAT 26 U4 27 A9 3wty &1 39 ® FEat ow @7 IO 31 994w 9eT & v
4 3w fgifra #1 I1x4=4

Question Nos. 26 and 27 are Long Answer Type. Answer any one of them. Each question

carmes 4 marks. 1 ~d4 =4
26. IRV, Frefaer s Ao 9 A9 &/ awEd £ 7 4

What do you mcan by liberalisation,privatisation and globalisation ?
y"ﬂﬁﬁa bz A afEe W HaR F1 TE F QO Fa a
Describe the importance of transport and communication in Indian cconomy.

HTYST W9 / Disaster Management

g IA 9= / Short Answer Type Questions
7y qoar 288 31 7% 7Y IAT &1 39§ fEgt 209t & 3av F1 9w 0y F fw
2#3%?!6"! 2x2=4

Question Nos. 28 to 31 are Short Answer Type. Answer any 2 questions. Each question
carries 2 marks. ' 2x2+«4

ng. RN fardd WER &1 el € 2 2

How many types of disaster arc there ?
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29 R o & fem qum ey

Suggest meanures to control flood.
307 v ol gl & e sim e i

Differenuate between Earthquake and Tsunami.

31 sfEs wEva § et warsa w ffre W el s

Describe the role of local administration in emergency management.

fdere A ddfda @afl saetd],
a-az:-:a;a l;rnarqa ,Bgfﬁa

maﬁrﬁmgmﬂaaﬁamﬁm
g UTat & f3e...

BSEBResult.In
Rffe® &
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